& Leuze electronic

eeeeeeeeeeeeeee

-‘ SENSbH
BUSINESS

EIURAES
2 0 B LA




AEENEREHR

FLSR A R FH L Ml 35 AR A5 BATT R IR T 5 s oAy 465 2 Y 1) B ABL A R 7 5%

JELIF SR FT I 1 JE PR (7T RE

Pl | S U, X RITT R B RER AL AHRE AT s H 2, B R AR EOR AP
AR RTT R EORIE H 281 % . BOKI B dh BRE LT W HIVAAR AN, FEEH T

AR R N 2 RN R AT st (iln, FEZe
ATV RTT R BT, BAZMEmNN AL E S8 NUR, MR A 2w AR A
IR, TP AR NPT A B SR s 8 I AR R i P R e m e it Bl ftiE
RTTR. HEEEER RS, NTRESME— AP,
RIFNEATH 7 S e T C ) B AL AR



fil s xR Re AR AL 55 FIRE B K U

FRATTI 77 i 2 T R O YA A Y L P () D) s RSB I o SR S P BRI AR T 2 AR T b [ 22 e R s A, AT
M) TR — o FRATZ AR A ST 2 B A 0 2 ) SR A B AR X A R ThREa T- 52 % o FE 16457 it il ) LA Sk 437 i

RERRH, 20 SR B Ml A 55 A5 AT 47 it 28 51 B =3 B 4 o

5 1& 5% M

B 7R RS O VG R A, PR i
] #

B ORSEORFE S, WS R ENE B
T

B FRAERIMS / M1 IE B BR B LS, SEELPE . o
P R R K

WA [ AN T 1] A TR A5 T A e R R 4 K 2 S
AR5

EEILR

W PR S A T S e e R PR R R A A i [ 3
kA

B R Ah ST L AL & R R e EEOR

B LR AN AR T RE IS AR AR R £ A

B ORI VE EE T R 2RSS, JCHE TR
R

WAL, 12 3

BRI ATE (NG /NOF I T 8 B O it rii
FIPNP/NPN) , A5 &Rz R A

B OERAE: M8/M1 245k B HL 4R

B R RE S SOE IR ARAE BT AR
5. AC/DC¥iH KIERHI A Bt
AN K B 43483




2SR pE R Iy RY 1R S,

HIEHSES

XN IR AT R FH 1 2 A HEAE 55 AL RS E5 4

a*” [

[ A T A 1 A% Tk T7 T A%
IS 208. IS 212. IS 218. IS 230 IS 240. IS 244
IS108. IS112. I1S118. I1S130 IS122. IS 144
40X 12 X 26mm/40 X 40 X 65/67 mm
)\ M8+ M12. M18. M30 Ah5e 40X 40X 115/120mm
18 X 18 X 34.3mm
EERE RN 1.5 ...15.0mm EEE N 1540.0 mm
VARG =1145,000 Hz FF R =IA150 Hz

B i EANP SRR AR, REMTIAME W RKERTTRB, B S AR A 8] B AR R A B A AL A

R S FH 2R A T 4k
B RMEN T RE R ES RS B AR SR, A e [
W LU A [ 7 T A N B WU TR PR A 5 s T T R R L, A e
B FERLERLED, BAGSIURIER SR (LEDIMR) B JRRftn =

A AT R R

A6 e EL A 2 e ol




FA i S 1% RE

T 0T B e PR REAN BE K 45 5 TUR BRI, 1K

EH T HE S ERIMEEA: S, XX, R=1, AC/DC
IS 208~ IS 212. IS 218. IS 230

A3 M8. M12. M18. M30

ERET RN 3.0 ... 40.0mm

TF AR 141,000 Hz

RAHFAETES, xX AC/DCIE & R

B ERHEE, B2 DRSS S WS TR S W s RS R K : 20VE240V AC/DC
W R, & TR N T A B\ OANEEN AR5

W PR 2R
R (R=1, BWIERHH1)

WA R AN F] (AR B SE A (R R R DR RE B, G Ak
BT RBAEREARE, # ORI D RE R SEE

&I TR o7t Tl S A




N ?
wﬁﬁ?

145
IGN ==

A, R HAE 5 7 ZE A R R 2

/

(pEtEeg

IS 204. IS 205. IS 206. IS 255. IS 288

FFEE: @4/6.5mm, M5

s J%: 5X5mm/8X8mm
143 [ 1.5...3.0mm
I e A% #1£5,000 Hz

W R X AR A A AT SEEIL A AR B
B SRR, R SEBENAS I R A, SRl A R
B Rl AN AR 2 R AR E R G Al

FEATUBROIR T e I 26 1% B

ZE R EFEN

L e

= R

Q IO-Link

FFEHRR (BA) BRI MRS

IS 206. IS 208+ IS 212. IS 218. IS 230

AR5 @ 6.5 mm, M8+ Mi12. M18. M30
ESE i PN 3.0 ... 40.0mm
TR A% 1% 1,000 Hz

B CRAZ6LAEMN, EHT LA

B VAAE S B SN

B HE

B R

B RSN O-Linkdz

B R RREE T AR PR 0 & i SRR s D

RS




Rt

FAH3E E BR1ESN

FrXREHEH

FFRINRE

PSR

EE

ST

(316L = ERTIRERA

M8 x 35mm/45mm

15/2mm (GFFZ%)
25/4mm (FEFELRE)

PNP
NPN

NO
NC

IP 67

B4
M8#E Sk
M123%3k

e L

BBR=1hRA
B HAC/DCARAS

—-25...+70°C

M12x 37 mm/45mm

2/4/6mm (FRLRE)
4/8/10mm (IEFELE)

PNP
NPN

NO
NC

IP 67
IP 69K

R
M1 23k

]
NEEN (316L)

ZEHFE /)
PAfEEE
BFEETIATEEH
BAR=1A

B BAC/DCER A

—25...+75°C
REEM: —25...85°C

IS 218

M18 x 37 mm/48.5mm

5/8/12mm (GFEL%)
8/20mm (EFF L)

PNP
NPN

NO
NC

IP 67
IP 69K

2R
M123Ek

&R
TEFSR (316L)

L5
FHEEE

AT R T AR
BHBR=1hEA

B BAC/DCHRA

—25...475°C
TEEEN: —25...85°C

IS 230

M30x 51 mm/63.5mm

10/22mm (GFEL%)
15/40mm (FEFRLRE)

PNP
NPN

NO
NC

IP 67
IP 69K

B4%
M1283k

€R
NEEN (316L)

AEEE
ATRRITIHNAEHN
BHAR=1fA

B HAC/DCARAS

—25...+75°C
TEEN: —25...85°C



TN
TR ?

HIEZ TL&W

A, R AR S5 75 28 IR IR A2 464 RE R U R

IS 240 IS 244 IS 204
R~r 40x12x126mm 40 x40 x 67 mm/120mm 0 4.0x25mm
e amm GFF223) 20mm (GFF-223) s
HSC RSN Bmm CEFFEE)  40mm CEFPEE) omm G
- PNP PNP PNP
G NPN NPN NPN
s NO NO NO
TR NG NG NG
. IP 67
FHIPER IP 67 P 69K P67
. 22N Uity - "
K M8k M1 24234 Ba
shw ) Bk R
(316L = EBATIBERA
S AL Bk
IR WS HPIRAS s AT ERETEENEE BN A
it T

mESTE —25...+70°C —25...+85°C —25...+70°C



Rt

FAETEE PR1ESN

FrREHE

TR IhRE

DiE7AE 2458

PEEE

TR
(316L=EATFIBERFD

LI

i

IS 205

M5 x 38 mm

1.5mm GFFzeds)

PNP
NPN

NO
NC

IP 67

Ciks )
MBHk

A
(et

—25...+15°C

&

IS 206

0 6.5x34mm/35mm

2/3mm (GFF2edE)

PNP
NPN

NO
NC

IP 67

45
M8k

AN

(et
FHTE

—-25...470°C

IS 255

5x5x25mm

1.5mm GFFzeds)

PNP
NPN

NO
NC

IP 67

&
5

&

JiT%
NS 5E

—-25...470°C

IS 288

8 x8x40mm/59 mm

1.5/2/3mm (%3223 )

PNP
NPN

NO
NC

IP 67

4
M8 $% 3k

ol

Jite
(el

—-25...+70°C































































IS 122 /1S 240

>

M3/4.5 tief B =
AN j
-

o
=

]

16
40

<~ \“ @
i 4 !

Lk A BRE
B BTN




40

4 N
©
B\ /Q
0\ Yz
- N\
M E o
T e &0
5,3
3
N
g

118

)o

M20x1, 5

16

A BN HE
B B&ERLT
C RBIETIT



40

40

46

60
67

9,9
l—
@/’9 ;
1
20
30

N

M12x1

28

A BN HE
B &L
C RBIERT



IS 144/ 1SS 144/ 1S 180

. [}
' o S
o
3
.1
' 1 PO
B . B il 40
i C 65,9 B 2%
F Y [T
1 A
gllelo] ] e @
l: ] jll. T 1
e - 17 .
&/ = S -
oy 2
/L m M

A BRXE
B ZEF5RAT
C &HBIETT



IS 204

/1S 104

/1S 205

@4 A ” A
/_ -
= A
2 .
?
g/ 8/
$2.6
$3,5
M5x0,5 /A M5x0,5 /A
1
L ) |
E o E
e ol S
o0
ap)
£ B
@6,5
, $3,5
r o
|
M8x1
il SWZ
A

B ®EBIERAT



IS 206 /1SS 206

$6,5

$6,5 A

30

9
©
X
?3,5
@3,5
#6,5 A
I/_
|
n
o
%
0
~ EE
i
M8x 1

A BRRE
B BEETT



IS 255 /1S 288

1.5
Al ™ fe!
- T B
‘el ‘-0_ <
+ = - 4
= 4 B L=
| o
i
8 8 8 8
3 3
S 11 e :
A © A
2
% 2 2
g3 =
’ o3 $

83,5




A& &G

TR RS 5 — B R M E R

REAFREUARFASE, EFZNEFAR, BNEEHET—X
Fo BANEHAFHEERMMENTRMERN~m. NAREERAR
FARSS, HBBEMNNFFBSERND. XRFMNEERIF~RTL.
BUFTAR S5 = mANFEZE T IHE W EIRRIFRE.




A E B EIE

SMARTER PRODUCT USABILITY/®E 2 ieH = ms At

FEF= fh TR T AT AR GE R B SRR B ) 5 Ik B Dk, BATHE
75 JE A SE L] B2 BRI HE , IR DA AR AR 22 B T AR AR B B HO I B 42
FGE, DR 4% 0 U 2 A T RS EL IR A o

SMARTER APPLICATION KNOW-HOW)/ ¥ & 58 R i & |

WA W] RE MR S SR T T R 2o Xt R AT T 14 52 AR U AT BLH
o AF XL L oK, AT H 77 1. e, AR E &1
R T S, RBEETI GRS, EIRATHIZ ) — AR A RE SR 40 R Rk

S

SMARTER CUSTOMER SERVICE/ &t I&FIRS

DR BR AN AN AEAL RS MG 25 7 SRR GE M Ak B2 - S 95 36 A1 il LR 42 JRATT
WHAPFTE. B, FATR GRS RIEATMMRS G, FsL b, RATHAEE R

Jri s, REAF AR RS BRI . EIR R IR R A L
TRATH AL JRER & S A REAE AL (o I (5] At A % ) SR AR AL IR 55

AERfEEZ0: www.leuze.com.cn

Lynn Zhong»
2 IR gg HL T




aie
EH

7 2 N F

HESRS

www.leuze.com.cn

HoMEFERS R BIRAF

Leuze electronic Trading (Shenzhen) Co., Ltd.
AYITHRELXBEE R 1 SFERAZRKE F501 - 510

Rm. 01-10, 5/F, Xihaimingzhu Bldg. No. 1 Taoyuan Rd.,
Nanshan District Shenzhen 518059 P. R. China

Tel : +86 (0) 755 8626 4909

Fax: +86 (0) 755 8626 4901

E-mail: info@leuze.com.cn

FHMBEFRS CRID BRAT SN AT

Leuze electronic Trading (Shenzhen) Co., Ltd. Shanghai Branch
EEmIIOXK%ER 1619 SKRFEEFRVE 4 805 =

Rm.805, Junfeng International Fortune Plaza No.1619, Dalian Rd.,
Hongkou District, Shanghai 200086 P. R. China

Tel: +86 (0) 21 5508 5630

Fax: +86 (0) 21 5508 5631

E-mail: info_sh@leuze.com.cn

HHMEFES CRIUD BRATIRERSLQF

Leuze electronic Trading (Shenzhen) Co., Ltd. Beijing Branch
ERTHABXBERAE 12 SHEREFH L 1306 E

Rm. 1306, Baoneng Center, No. 12 Futong East St.,

Chaoyang District, Beijing 100102 P. R. China

Tel: +86 (0) 10 8440 9722/ 23/ 26

Fax: +86 (0) 10 8440 9727

E-mail: info_bj@leuze.com.cn

HHMEFES CRIID BIRABMRERS A F]

Leuze electronic Trading (Shenzhen) Co., Ltd. Chengdu Branch

AT ARER 3 B 1 SERMEF 1L 2208 5

Rm. 2208, Chengdu Ping An Fortune Center No.1, Section 3, Renmin South Rd.,
Wuhou District, Chengdu, Sichuan Province, 610041 P.R. China

Tel: +86 (0) 28 6429 2243

Fax: +86 (0) 28 6429 2019

B

IlipaE

Huhk: TR X 475 R DT AR 602%
lis%%: 510660

H1if: +86 (0)20 3761 9657

tH¥: +86 (0)20 3761 9657-84

SRR AR R 2, FRATIOR B BB S BRI ALR

CN 04 12/07/2016 800100200040





